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BT 0 Laiviad 5T e oy ol UMUL U LIRA
gsRnad
Ansnay A HAR X y z
T1 3a 0.1013(5) 0.0 3
‘ 1
Br 3b 0.0 0.0784(13) 3
N 6c 0,319 0,035 0.262
c, 6c 0.319 0.069 0,189
Cq bc 0,437 0,090 0.146
C, 6c 0.555 0,076 0.176
Cy 6c 0.691 0,017 0,297
¢, be 0,441 0,019 0.294
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ansnaf 5.2  (mo)
BT UM TV a0 zRoN UM BLelag
34213 N
SNHIRATRINRA X ¥ z
€y 6c 0.559 0.036 0.259
€5 6 0.180 0.200 0.363
Cle be 0.319 0.280 - 0.398
c,. 6c 0.400 0. 444 0.399
Cig 6c 0. 342 0.524 0.363
Ciq 6¢ 0.203 0. 444 0.328
Cog 6c Q1 0.280 0.328
H, 6c 0.224 0.083 0.160
H, 6c 0.%437 0.118 0.088
H, 6c 0.549 0.090 0.146
H, 6c 0.784 0.031 0.268
Hg 6c 0.390 0.216 0.426
By, bc 0.547 0.505 0.426
H) ) 6c 0.403 0.647 0.363
B, bc 0.187 0.505 0.300
Hi, 6c -0.030 0.216 0.300
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Anynef 5.3 uémannwuuaqﬁ@s:uaqa:mauﬁﬁq | iuwﬁqﬂﬁqvaéuunm§-
[ 0
SznoY AIMNp1Ivdsz (AY SR Aanyvse (A)
»
TL - Br 3.440 (5) Br - N, 3.853 ()
3
- Ny 2.422 (4) - C, 3.267 (7)
- €, 3.285(3) = C, . 4.334 (6)
- ¢y % .526"(85 -¢, '5.568 (6)
-c, 541144 (5) - Cg 7.636 (6)
- G 54862 A 6) -Gy 5.286 (6)
- Cy, 34389 (5) = Cs 6.062 (6)
-C 4.620 (5) — 3,946 (1)
15
13 *
-C. 1.831 (1) - Cle 5.096 (5)
- €l 2,818 (L) - Cyy 5.741 (4)
- Cyy 4,103 (1) = %% 5.423 (4)
- Cig 4.585 (1) - €44 4.339 (8)
-~ Cyq 4.032 (2) -Cy0 3.445 (5)
»
- Chp 2.714 (2) Nl = C, 1.381 (7)
c, - C, 1.345 (1) -'C, 2.357 (7)
~ Cf 2:338 (8) n &y 2.693 (7)
- - . 8
Cg 4.482 (8) Co 3.873 (8)
-Cyy 2.467 (8) - ¢, 1.434 (8)
- €5 2.886 (8) - C4 2.393 (8)

A up aWussudEavdivgy 5.1
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{512)
azFan ﬂ1ﬁuuquus=(z) azmaN ﬂ?ﬂuquwuss(z)
- C}o 3.966 (1) - €l 3.237 (8)
- €y 4,39 (1) - Cyg 3.523 (7)
- Cyy 5.150 _(7) - Cyy 4.524 (7)
- Clg 5.478(°8) =Cg 5.144 (8)
- Cq 5,123 (8) =84 4.935 (8)
F - Cy #1366 Ad) e, 4.040 (8)
¢, = Cs 20835 (8) =c, 1.368°(8)
-Cyy 2388 (7) = Cg 4,077 (8)
- ¢y 1.589 (7) - ¢, 2,815 (1)
- Cs 5.671 .(8) - Cy5 2.597 (8)
- Cye 5.604 (8) ~ 04 5.156 (8)
- Cyy 6.201 (8). - L 5.369 (8)
- Cg 6.787 (8) -Cyy 5.961 (8)
- Cyq 16.834 (8} “1Cia 6.314 (8)
- €, 6.299 (8) - Cq 6.118 (8)
Cio= C1y 1:279.7°C7T) £ &1 5.547 (8)
~ Cie 4,058 (8) - ¢y 2,517 (8)
- €6 3.906 (8) - Cyq 1.596 (8)
- ¢y 4.867 (8) - 015 6.356 (8)
- Cig 5.763 (8) - Cie 5.844 (9)
- Cyg 5.853 (9) - ¢y 6.529 (9)
- Cop 5.082 (9) - Cig 7.563 (9)
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(512)

[+
Aenuun Whise (A)

1.3727(6)
2.422°(5)
2 #B13—-6)
2,422 (8)
1872718)
W16 (6)
24428 {8)
2756/ (8)
2,363 (8)
1.374 (8)
2.365 (8)

2.756 (6)
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Qo
A Np sz (A)

7.955 (9)
7.404 (9)
5.195 (8)
4.925 (8)
5.681 (8)
6.551 (8)
6.744 (9)
6.121 (9)
1.3747(6)
2.423 (5)

1.416 (6)
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aas14f 5.4 uém4ﬁqyusswiﬂqosmauﬁﬂ4 9 U 1DRAT -
LI 2441 o} ALY I (o]
Br ~T1-Br, 131.72" 0.39 CRgeTI-C 96.57 | 0.03
N, 80.15° | 0.08 ~Coq 103.58 | 0.05
-C, 58.09 0.08 C,-Ti=C, 5.53 | 0.02
~C, 63.62 0409 ~Cy, 43,36 0.06
-C,, 101.44 | 9.10 \ <Gy, 138,34 | 0.06
- =Cy4 96 .42 Q.10 =€, 97.62 | 0.08
~Cys 91,76 021 ~Cc 91.84 0.09
~Cy | 108.65 Q757 \ ~C,- 87.66 0.05
~Cy5 98.74 | 0.17 ~C.g 86.59 0.03
-Cg 83.74 | 0.18 =tz 88.27 | 0.01
-Cyg 7050 0.20 -Gy 92.94 | 0.02
-Cyg 66.90 | 0.20 C,mT1-C, °37.82 | 0.03
N,=T1-C, 22.06 g0l ~tf, 32.81 0.03
-C; 16.53 | 0.02 -Cis 97.87 0.0l
=, 21,29 10205 : Acte 89.89 | 0.08
~C5 16.27 0.05 - . -Cy 5 86.57 0.06
-C,s | 98.17 | 0.13 ~Cig 87.14 | 0.04
-Cy¢ 84,11 0.11 -Clq 90.37 | 0.03
~Cy 83.52 | 0.07 -Cop 95 .69 0.04
-Cig 88.91 0.05 TP SE 5.02 | 0.00

fia  yuIsmavRusTudaviivgl 5.3 uaz 5.7
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ﬁ

G 84A1 c 24AN o
-Cy. 97.56 | 0.16 17.06 | 0.00
~Clg 77.38 | 0.10 33.79 | 0.00
-c,, 80, 40007 41.78 | 0.02
~Cig | 91.30 j0.06 Cry=Ti-C 16.82 | 0.00
-Cig 103784 006 25.21 | 0.03
~Chg 112,304 | /0408 G, o—TI-C 8.97 | 0.03
€ 4-T1-C ¢ 97.8041 015 38.27 | o0.10
-Ci6 78.85 | 0.10 58.57 | 0.13
~C 81.03 | 0.07 71.07 | 0.14
-Cg 90.74 | 0.08 105.31 | 0.06
-Cyg 102520 | 0.06 27.63 | 0.02
-Cyp 118445 | 0.09 41.50 | 0.12
cls—n-c16 24:21 | 0.06 61.15 | 0.07
-Cyy 17.55 4 0+09 46.42 | 0.03
-Cq 152 } o0.0% 20.30 | 0.04
70y § 21 . 42| 20.05 32.79 | 0.05
-0 27.25 | 0.05 £9.03 | 0.04
clé-n—c17 10.03 | o0.01 73.82 | 0.03
-Cg 26.68 | 0.02 66.94 | 0.03
~Cyg 43,06 | 0.02 12.50 | o0.01
~Cp 50.54 | 0.01 65.94 | 0.04
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Aas1af 5.4 (@)

EUY 246N | o Y a4 o
g 83.40 | 0.05 ~c, 84.88 | 0.02
~Cpq 81.11 {0.01 -c, 115,39 | 0.02
C4-Br=C/g 1 76.83 0.05 -c, 162.44 | 0.01
~Clq 89.78 #0402/ -C, 177.55 | 0.03
~Cyp 90.21 4 0.03 ~Cls 151.17 | ©.01
C,-Br=C g 33,87 f d.05 ~Cls - 66.97 | 0.11
~Cpp 19.95 | 0.01. ' -y, 87.29 | 0.13
¢ g-Br=Cyp 16.33/| 0.06 ¢y, 86.13 | 0.15
T1-N-Br | 61.58 | 0:07 T-Cq 57.60 { 0.15
-C, ' 116.72 | 0:07 =C 0 51.70 | 0.13
-c, 16646007 — GNCy | | 29.74 | o.01
-c, 176.96 | 0.07 -G, 60.24 | 0.01
-c, 135.98" 4. 0.07 ~c, 107.29 | 0.00
¢, 120.86 |0 0.07 -a b 122.42 | 0.00
~C,4 147.25 | 0.07 ~C,s 96.03 | 0.00
~Cls 34.04! | 0.000 ox ¢/ 111,95 | 0.01
G 52.73 | 0.02 -C ¢ 120.95 | 0.01
-Cyq 64,33 | 0.01 - =Cy 109.41 | 0.01
Cq s4.25 | 0.02 - -Cy, 89.90 | o0.01
-Cy 40.77 | 0.03 | £Cyp 94.30 | 0.01
Br-N -C, 55.14 | 0.01 C,N -C, 30.51 | 0.00
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AMT1ef 5.4 (819)
24941 o VY 24/ a
77.56 0.01 -620 138.70 0.00
92,68 0.01 Clszl—Cl3 26.39 O.Ql
66.30 0,00 =€, 115,08 { 0.01
133.74 0,00 -C16 94,48 0.01
130.88 .0 --C17 95.17 0.01
116.4% DJO1 —019 123.64 0.01
108.87 .00 —C20 130.07 0.01
117.84 0.00 C13_N1_015 134.12 0.00
47.05 0.01 —016 111,27 0.00
62.18 0.01 -C17 106.32 0.00
35,79 0.01 —C19 130.66 0.00
145485 0.00 —C20 142,92 0.00
128.25 0.01 ClS—Nl——C16 22.92 0.00
146} 15 0,01 -6, 5 31.10 0.00
124 .60 0.00 —C19 24 .95 0.00
127.78 0.00 -020 7471 0.00
S 15.12 0.00 Cle—Nl-C17 14.41 0.00
11.26 0.00 -019 32.97 0.00
126,51 0.01 -CQO 35.59 0.00
104.32 0.01 C17-N1-C19 - 28,54 0.00
101.80 0.00 _CZO 37.00 0.00C
128.75 0.00 C,.-N_-C 14,11 0.00
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BA5747 5.4 (ma)

Y 29A" o FrY 04An a
T1-G,-Br 63.34 | 0.08 -C, 29.38 | 0.00
-Ny 41.21 | 0.07 -C,, 55.55 | 0.00
-c, | 160.86 | 0.07 ~C_s 49,20 | 0.01
-c, 130. 124" 0407 =c,, | 43.42 | o.01
-c5A 96 .84 | 40,08 S 67.31 | 0.01
-Cyy 70.59¢ | f0408 €y =C3 =C, 30.74 | 0.00
G5 96.76/ | /0408 \ -t 64,05 0.01
-C,¢ 27.22 ) 0.01 ;clz 90.27 | 0.01
~Clo | 39.85 |10403 -Cy4 64.10 | o0.01
o 38.37 | 0.04 -Cys 147.97 | 0.00
Br-C,-N, 10456 | 0.03 ' -Ce 130.63 | 0.01
~C, 135.80 | 0.03 el 147.38 | 0.00
-c, 166.53 | 0.03 c,~C, ~Cg 33.31 | o.01
-C, 1%0.25 ) 6/03 Qe 59.53 | 0.01
-C\, 133,94 | 0.03 ~ =Cy4 33.36 | 0.01
6}, I60:117 | “0.08 ' el 126.24 | 0.00
"Cis 65.29 | 0.07 ~C ¢ 108.79 0.00
~C ¢ 81.95 | 0.09 : ~Cp. 137.91 | 0.00
~C,p 51.23 | 0.11 €-C,~Cy, 26.22 | 0.00
Nlécz—c3 119.65 | 0.01 ~=Cyq 0.09 | 0.00
-c, 88.91 | 0.00 ~Cy5 97.41 | 0.01
-C, 55.60 | 0.00 -Cye 82.34 | 0.01
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VY asAn g Y a4 AN o
~C,g 113.61 | 0.01 -c, 130.40 | 0.04
clz-cz-é13 26.17 -} 0.00 ¢, 92.90 | 0.04
~Cys 74 . 150701 561 - 119.85 | 0.04
-G 62,09 | 40,01 N,~C4C 88.47 | o0.01
~Chy 01,81 | olol ~Cs 68.08 | 0.01
C3-C,=C 5 97.36 | 0.01 ~Cy) 30.58 | 0.01"
-Cy¢ 82.30 |/ 0.o1 ~Cq 57.52 { 0.0l
-C, | 123.524] jo.01 C,C4=C, '119.09" | o0.01
C;5-C,=Cyg 17.96 | 0100 -C, 98.69 0.01
~Cyy 18.15 | -0.00 -C,, 61.19 | 0.01
C16-C,~Co0 31294 0.00 G, 88.14 | 0.01
T1-C, -~Br 4532 | 0.06 €,~C,-Ca 20.40 | 0.00
N, 17.01 | 0.05 -1, 57.89 | 0.00
-c, 13.61 | 0.05 -a,, 30.95 | 0.00
-c, 105.48 | 0.05 CexC4-C1 s 37.50 | 0.00
o, 8508/ | ©.05 234 10.55 | 0.00
-¢,, 47.58 | 0.05 C,,~C,~C 5 | 2695 | 0.00
~C,, 74.53 | 0.05 N,-C,~C, 30.85 | 0.00
Br-C,-N, 62.33 | 0.04 -c, 61.02 | 0.01
-c, 31.71 | 0.04 ~Cs 88.91 | o.01
-c, 150.80 | 0.04 -Cyy 32.07 | 0.00
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mﬁsqqﬁ 5.4 (ﬁa)

33 24AN o} IV 24AN o
-C, 5 61.75 | 0.0L -C,, 52,91 | 0.01
c,~C, -C, 3018001 ‘ =€, 4 17.34 | 0.00
-Cg 119.75 |=0.01 C,=C5=C}, 52.59 |- 0.01
-C,, 62.914" 0.00 =Cy, 27.02 | 0.00
~C4 92.604 | /0400 18y5-C57Cy 4 | 25.57 | 0.00
€,~C,~Cs 149.93/| /000 BeC N, 37.85 | 0.02
€y 93.09 4 0.0t ~c, 66.05 | 0.02
~C, 122.78" | 0,00 ~C, 94.59 | 0.02
c5-c4-c12 56.84 | 0.01 -c, 123.61 | 0.02
~C, 27015 | 0.00 =c, 165.82 | 0.02
C1,~C4~C1s 29769 | 0.01 ~Cy5 161.58 | 0.02
Nj-Cs-C, 17.11 | 0.00 5 -G 26.56 | 0.00
-c, 34.87 |, 0:00 € g 44.76 | 0.0l
-c, 44,06 | 0.00 ~C4 56.23 | 0.00
<y 8,555 <0 <00 WY | 28.20 | 0.00
~cl, 17.03 | 0.00 -Cy 56.74 | 0.00
Cy=Cc~Cy 17.26 | 0.00 -c, 85.76 | 0.01
-C, 26.93 | 0.00 ~Cq 156,33 | 0.00
-c,, | ~25.66 | 0.00 ~C,, 123.73 | 0.01
~C, 5 0.12 | . 0.00 . —C,s 46.26 | 0,01
C4-C4-C,, 9.68 | 0.00 -Clg- 64.05 | 0.01
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G 24A o 353 24A1 o
—C17 C67.77 0.01 -C15 149 .46 0.00
Cy=Cy5=C5 28.54 0.00 -Cip 129.74 0.00
-C, 57.55 0+01 =€, 120.98 0.00
—C5 128,13 0.0k C13-¢12—C15 148.90 0.00
-C13 95.53 0,01 —016 137.49 0.00
-C15 70.07 0 J01 —017 123.95 0.00
~C,¢ 83.99 | 0.0l Cy57C,5C g 19.72 | ©.00
—C17 82,22 0.01 ~C17 19.76 6.00
C3—C12-~C4 29.02 0,01 616-012 617 13.70 0.00
-Cy 99.59 0.00 T1-C,4-N 16.48 0.02
—013 66299 0.01 —C2 44,90 0.02
—Cy5 95.50 0.01 -C, 72,66 0.02
-Cy¢ 104,89 0.01 -C, 98.94 0.02
-C17 -68.22 0.01 -C5 135.23 0.02
€,=Cy57C5 70.57 0.00 —C., 13.41 0.02
-C3 37.97 0.00 -Ce 34,16 0.01
—C15 121.02 0.00 Nl-C13—C2 28.42 6.0l
-C16 124.07 0.00 -C, 56.18 0.01
-C15 112.95 0.01 -C, 82.46 0.00
05-012—C13 32.60 0.01 —C5 151.71 0.01
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uu 04AN o 3 va-a A1 o
~Cy\ 29.88 | 0.01 ~C g 161.34 | 0.06
~C¢ £1.80 | 0.00 -C g 142.55 | 0.08
€,=C, 4=C4 27.76 +0.00 ~C, 115.09 | o0.12
' -C, 54 .04 000 Br-Cye=N, 64 .00 0.14
-C, 179.87 4" 0700 -C, . 48.78 | 0.11
-C,, 58.30 4 0.01 ~C , 82.65 | 0.14
-Cyg 62919 4 0.01 ~Cle 141.92 | o0.01
C,~Cy5-C, 26.28 | 0.00 -c,, 127.08 | 0.12
-C5 152.11 0.00 ~Cig 105.50 | 0.16
~C,, 86.07 | 0.01 g 82.16 | 0.18
~Cye 85, 14| 0.01 ~C,q 58.98 | 0.18
C,~C;4=Cs 125783 | 0.00 N,=C,~C, 18.84 | 0.00
¢, 112,34 | 6.01 -, 18.66 | 0.00
-C 107.28 . 0.01 ~C ¢ 90.31 { 0.01
Cs=C157C 121 /83™ { ©.o1 -c}, 105.23 | 0.00
~Ce 117.91_| 0.01 ~C,q 116.32 | 0.00
C,,=C, 5701 32.41 || 0.00 ~Clg 120.74 | o0.01
Ti-C, -Br 60.61 | 0.19 ~Cop 116.45 | 0.01
-N, 47.79 | 0.13 C,~C,5C), 35.79 | 0.00
-c, 55.16 | 0.09 ~Cye 99.03 | 0.01
-, 55.88 | 0.16 -, 104,57 | 0.00
~Ce 122.62° | 0.15 ~Clq 106.59 | 0.00
-C,, 149.27 | 0.16 ~C g 104.00 | 0.01
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LA 24An o] 24An o]
;Czo 97.66 | 0.01 121.85 | 0.07
€1,=C157C1g 73.85 0.01 92.65 | 0.08
~C15 93.94 | 0.00 62.44 { 0.08
-Cg 112.76 0700 15.63 0.00
-Cg 127.32 0400 21.44 0.00
-Cyp 132.18 ol 01 26.93 0.00
C16~C15=Cy 7 30.22 0400 66.77 0.01
~Cq 59.45 0 .00 127.32 0.01
~Cyq 88.68 0.00 118.65 0.01
E 3
~Cyy 118.90 0,00 102.96 0.01
€,;7€,5=Cg 29423 | 0.00 84.22 0.01
-Cyg 58 .46 0.00 33.93 0.00
~Chp 88.68 | 0.00 35.50 0.00
T 2823 000 63.01 0.01
~Cag 59.45 0.00 114.68 0.00
€,47C, g 997 0700 103.08 0.01
T1-C,(-N| 43,16 0.08 88.40 0.01
~C, 48.31 0.06 73.67 0.01
-Cpy 57.86 0.10 10.11 0,00
-Cyq 66.99 0.10 86.43 0.01
-C,s 33,17 | 0.09 125.53 0.00
~Cyy 149,71 0.05 129,69 0.01
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116

M 24An o Y a4An g
~C)q 121.99 | 0.01 ~Cyq 41.00 | 0.06
-C, 105.68 | 0.01 N,=€,.-Cp 17.06 | 0.00
€ 5-C1=Cp5 | 93.647] 001 =C 43.67 | 0.00
-c,, 115.56 | 0400 ~C,, 38.26 | 0.01
~Cg 122. 43 | 40401 ~Cq 109.33 | 0.01
-619 120.14" |/ 0L01 ~Gg 85.44 | 0.01
=Cyp 109.14" | fos01 “C,q 61.91 | 0.00
¢,5-C16=C1y 120.59° /1 10.00 C,5-Cy7~Cys 56.29 | 0.00
-C1g 91.36 | 0.66 ~Cle 40.77 | 0.00
~C g 61.47 | 0.00 ~Cg 124,83 | 0.01
~Cy 30455 | 0.00 ~C o 102.47 | 0.01
C 5=C,~Crg | 29°23 | 0.00 G 5=C,~C1g 29.19 | 0.00
-Clg 59212 | 0.00 -Clg 91.37 | 0.00
-C,q 90 04 | ©200 “C iy 60.77 | 0.00
C15C167C g 29.90 | 0.00 ~Cyq 29.85 | 0.00
0,5 0,815 <0400 C16’C17'C13 120.56° | 0.00
C,5-C16-C90 30.92 | 0.00 ~Cyq 89.96 | 0.00
T1~C, N, 32.15 | 0.06 ~Ch0 59,04 | 0.00
-Cy, 43.36 | 0.07 C,47C;7-C1g 30.60 | 0.00
~C}s 13.18 { 0.07 ~Cyg 61.52 | 0.00
~C e 20.27 | 0.04 €,97C17-Cg 30.92 | 0.00
-Cq 101.74 | 0.00 C,5~C1gC g 29.19 | 0.00
-C g 71.44 | 0.06 | -c,, 59,40 { 0.00
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Asnef 5.4
LN 24A" a L 4R o
~Ciq 59.40 | 0.00 N,-C157Cy5 34.32 0.01
~Cop 29,19 f..0.00 ~C1g 44,07 | 0.01
C16‘CL§‘°17 30.21 0..00 =, 66.02 0.01
~Cyg 88759 0400 =Cyg 90.93 | 0.00
€50 58¢37 A" 0 .00 -C3 44.05 | 0.00
¢,5C15~C1g 118480 A 0.00 C}o=C 1 45C 29.85 | 0.00
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